Fall *06/MAT 150/Worksheet 9 Name: o C‘Fg‘*"l)f 5 Show all your work.

1. {6pts) Without using the calculator, find the exact values of the following inverse
trigonometric functions. Draw the unil circle and the appropriate angle under the expression.
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2. (3pts) Use a picture to find the exact
value below. Do not use the caleulator,
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3. (4pts) Find the exact value of the ex-
pression below. Draw a picture and do not
use the caleulator. Y ~4 4
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4. (4pts) Use the picture below to estimate (in degrees) aresin(0.7) and arctan(—0.9). Then
evaluate these numbers using a caleulator and compare your answers,
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5. (4pts) Find the exact value of cos 105°. Do not use the caleulator,
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6. (4pts) Lel cosf = T where = < 6 <10. Find sin -
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7. (5pts) Show the identity: Acoe (csc @ — cot §)*
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